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PSI | 5%+ | PSI ik X PSI | A%+ | PSI | 5%+ |PSI|i7%+
105#27% 01p 36 03 41 03 35 03 28 03 40 03
105#2% 02p 28 03 32 03 26 03 25 03 31 03
105# 2% 03P 27 03 34 PM10 33 | PM10 | 28 PM10 34 03
105# 2% 04Fp 25 03 38 PM10 29 | PM10 | 30 PM10 36 | PM10
105# 2% 05Fp 36 03 46 03 34 03 33 03 38 03
105#2% 06 F 60 03 74 PM10 80 | PM10 | 72 PM10 80 | PM10
105# 2% 07 58 03 58 PM10 65 | PM10 | 58 PM10 62 | PM10
105# 2% 08 Fp 56 03 55 03 66 | PM10 | 54 03 57 03
105#2% 09 p 52 03 59 PM10 51 03 50 PM10 54 | PM10
105#27% 10Fp 54 03 64 PM10 57 | PM10 | 52 PM10 56 | PM10
105#27% 11p | 40 03 54 PM10 60 | PM10 | 54 PM10 56 | PM10
105#27% 12p 36 03 54 03 38 03 38 03 42 03
105#27% 13p 30 03 46 03 32 03 30 03 36 03
105#27% 14p 23 03 26 03 27 03 22 03 26 03
105#2% 15p 28 03 37 PM10 32 | PM10 | 29 03 39 | PM10
105#2% 16 R 29 03 35 PM10 50 | PM10 | 35 PM10 44 | PM10
105#2% 17p | 41 | PM10 | 36 PM10 62 | PM10 | 49 PM10 52 | PM10
105#2% 18p | 42 03 51 03 67 03 51 PM10 52 | PM10
105#2 % 19p 36 | PM10 | 50 PM10 59 | PM10 | 54 PM10 54 | PM10
105#2% 20p 35 03 55 PM10 32 03 43 PM10 53 | PM10
105#2% 21p | 47 | PM10 | 81 PM10 74 | PM10 | 72 PM10 76 | PM10
105#27% 22p | 40 03 69 PM10 91 | PM10 | 78 PM10 76 | PM10
105#2% 23p 32 03 35 03 39 | PM10 | 38 PM10 39 | PM10
105# 27 24p 35 03 40 03 33 03 34 03 41 03
105#2% 25p 28 03 34 03 44 | PM10 | 34 PM10 41 | PM10
105#27 26 30 | PM10 | 38 PM10 37 | PM10 | 40 PM10 43 | PM10
105#£2 % 27 31 03 37 03 32 | PM10 | 33 03 38 03
105#2% 28p | 46 03 49 03 54 03 50 03 50 03
105#2% 297 51 03 69 PM10 60 | PM10 | 62 PM10 66 | PM10
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i pSI [ 7544 | PSI | 75%# | PSI | d# | PSI |5 %% | PSI | 34 | PSI | 75 4 ¥
105#2% 01¢p 34 03 32 03 45 03 31 03 31 03 26 03
105#27% 02p 26 03 23 03 42 PM10 27 PM10 | 25 03 20 03
105#2" 03p 30 | pmM10 | 39 | PMI10 53 PM10 | 47 | PM10 | 37 | PM10 | 34 | PM10
105#2" 04p 35 | pPM10 | 44 | PM10 56 | pM10 | 45 | PM10 | 38 | PM10 | 34 | PMI10
105#27 05p 39 03 32 | PM10 54 PM10 | 38 | pm10 | 33 | pM10 | 31 | PM10
105#2" 06P 74 | pM10 | 71 | PMI0 88 PM10 | 79 | PM10 | 78 | PM10 | 71 | PM10
105#2" 07p 58 | pmM10 | 61 | PMI10 74 | pm10 | 70 | pm10 | 61 | PM10 | 57 | PMI0
105+#27 08P 54 | pPM10 | 52 | PMI10 69 PM10 | 66 | PmM10 | 56 | PM10 | 53 | PM10
105#27 09p 49 | pm10 | 49 03 70 PM10 | 58 | pm10 | 50 | pPM10 | 53 | PM10
10527 107 57 | PM10 | 52 | PMI10 63 PM10 | 65 | pm10 | 51 | PM10 | 54 | PM10
105#2" 11p 51 | pm10 | 59 03 56 | pM10 | 61 | pm10 | 51 | PM10 | 54 | PM10
105#2% 12p 32 03 36 PM10 48 PM10 33 03 33 03 27 PM10
105#2" 13p 34 03 29 | PM10 39 PM10 | 25 | pm10 | 30 03 24 | pPM10
105#2" 14p 23 03 29 | pM10 44 03 29 | pM10 | 26 | PM10 | 25 | PM10
105#27 15p 45 | pm10 | 37 | PMI10 50 PM10 | 49 | pm10 | 39 | PM10 | 37 | PMI10
105#2" 167 34 | pPM10 | 55 | PM10 42 | pM10 | 56 | PM10 | 44 | PM10 | 44 | PMI10
10527 177p 29 | pM10 | 66 | PMI10 41 PM10 | 60 | pm10 | 50 | PM10 | 52 | PM10
105#2* 18P 42 | pM10 | 65 | PMI10 53 PM10 | 58 | PM10 | 52 | PM10 | 51 | PM10
105#27 19p 50 | pMm10 | 68 | PM10 59 PM10 | 63 | PM10 | 55 | PM10 | 55 | PM10
105#27 20p 56 | pM10 | 47 | PMI10 58 PM10 | 55 | PM10 | 55 | PM10 | 51 | PM10
105#27 21p 75 | PM10 | 75 | PMI10 7 PM10 | 79 | pPm10 | 71 | pPmM10 | 71 | PMI10
10527 227p 67 | pM10 | 96 | PMI10 3 PM10 | 9 | pm10 | 80 | PM10 | 75 | PMI10
105#2" 23p 35 | pM10 | 50 | PMm10 46 03 52 | pM10 | 40 | pM10 | 38 | PM10
105#2" 24p 39 | pm10 | 31 03 47 03 45 | pM10 | 35 | PM10 | 32 | PM10
105#2* 25p 29 03 57 | PMI10 39 PM10 | 56 | pm10 | 40 | PM10 | 45 | PMI10
105#27 26 p 30 | PM10 | 95 | PMI10 42 PM10 | 56 | pM10 | 49 | PM10 | 46 | PM10
105#27 27p 30 03 46 | PM10 40 03 46 | pM10 | 35 | PM10 | 29 | PMI10
10527 287 37 03 50 | pm10 50 PM10 | 47 | PM10 | 46 | PM10 | 38 | PM10
10527 297 69 | pm10 | 70 | pm10 | 59 03 77 | pM10 | 70 | pPM10 | 64 | PM10
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i PSI 524 | PSI [5&4% | PSI [54% | PSI [5%4% | PSI |54%
105#2% 01p 45 03 36 03 44 03 42 PM10
105#2% 027 42 PM10 | 34 | PM10 | 28 03 31 | PM10 41 PM10
10527 03 p 53 PM10 | 51 | PM10 | 38 | PM10 47 | PM10 52 PM10
10527 04 p 56 PM10 | 56 | PM10 | 43 | PM10 51 | PM10 57 PM10
105#2% 057 54 PM10 | 50 | PM10 | 47 03 54 |03 55 PM10
105#2% 06 88 PM10 | 87 | PM10 | 69 03 80 | PM10 89 PM10
10527 07 p 74 PM10 | 67 | PM10 | 60 03 63 | PM10 62 PM10
105#2% 08 69 PM10 | 64 | PM10 | 58 03 56 | PM10 60 PM10
105#2% 09 p 70 PM10 | 66 | PM10 | 54 | PM10 60 | PM10 61 PM10
105#2% 107 68 PM10 | 70 | PM10 | 59 | PM10 57 | PM10 64 PM10
105#2% 117 56 PM10 | 58 | PM10 | 53 | PM10 58 | PM10 55 PM10
105#2% 127 48 PM10 | 51 | PM10 | 42 03 35 | PM10 39 03
105#2% 137 39 PM10 | 33 | PM10 | 40 03 29 | PM10 40 03
105#2% 147 44 03 31 | PM10 | 28 03 28 | PM10 30 PM10
105#2% 157 50 PM10 | 47 | PM10 | 36 03 37 | PM10 48 PM10
105£2% 16 42 PM10 | 46 | PM10 | 38 03 39 | PM10 42 PM10
105#2% 177 41 PM10 | 43 | PM10 | 38 03 47 | PM10 40 PM10
105#2% 187 53 PM10 | 55 | PM10 | 53 03 54 | PM10 48 PM10
105#2% 197 59 PM10 | 64 | PM10 | 54 | PM10 57 | PM10 53 PM10
105#2% 207 58 PM10 | 61 | PM10 | 46 03 52 | PM10 58 PM10
105#2% 217 77 PM10 | 89 | PM10 | 60 | PM10 70 | PM10 74 PM10
105#2% 227 73 PM10 | 82 | PM10 | 66 | PM10 77 | PM10 64 PM10
105#2% 237 46 03 48 | PM10 | 39 03 41 | PM10 44 PM10
105#2% 247 47 03 48 | PM10 | 44 03 34 | PM10 48 PM10
105#2% 25p 39 PM10 | 38 | PM10 | 36 03 41 | PM10 40 PM10
105#2% 26 42 PM10 | 47 | PM10 | 38 | PM10 45 | PM10 40 PM10
105#2% 277 40 03 38 | PM10 | 41 03 33 | PM10 37 03
105#2% 287 50 PM10 | 48 | PM10 | 52 03 43 | PM10 46 03
105#2% 297 59 03 78 | PM10 | 59 03 62 | PM10 70 PM10
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28 & A BRI LML F 5 A4 105820 S0 21048 £ D

I p H i+ =R %’lﬁ! VY BN N R A IR G -3 Y - B N D 7 ok | 4ok I
SO, | ppb 104-# * 32 27130[29|29|30(36|32|24|23[30|25|40|44]|40/|32]48
105#2" L35 | 23123 (28|22 21|26 |24 |18 |17 |21 |26|21|32|34]|31]|37
NO, | ppb 104# T35 111.3(14.2|18.2/18.0|15.4|16.7 |11.8|14.8|16.6|15.7|15.0|17.3|13.1|14.4[14.2]11.2
105#2% L35 111.0|13.3(22.0(20.0|16.0|15.3(11.6|18.3|18.3|17.9|14.8|17.5|13.7|14.8|14.6 |15.7
O, ppb 104# T3> 30.2]30.0|26.2|25.7|29.0|27.6|26.9|26.8|225|225(19.8|23.8|26.3|26.0|24.4|30.1
105&27% L35 1297(325|23.7|25.8|31.2(25.9|27.3(22.9|20.1|20.9|20.7|26.2|35.7|34.4|23.1(29.8
CO | ppm 104# =35 10.43(0.37|0.51|0.47 | 0.36 | 0.60 0.25 ] 0.50 0.52
105#2" T35 10.43(0.41|0.60|0.52 | 0.40 | 0.48 0.24 | 0.49 0.44

NMHC| ppb | 104+ 10.14 0.23]0.180.20 | 0.35 0.31]0.46

105#27 L35 1012 0.16 [ 0.15|0.27 | 0.25 0.25 | 0.32
PMyo | wgim® 104# * 32 37 | 51 44 | 50 | 50 | 50 | 60 | 51 | 57 | 48 | 64 | 58 | 54 | 55 | 65
105#27 L35 | 26 | 48 45 | 50 | 51 | 45 | 57 | 53 | 62 | 48 | 63 | 63 | 45 | 55 | 56
PMys | wgme | 104# %32 22 | 20 25 | 25 | 26 | 19 | 19 | 22 | 22 | 24 | 27 | 21 | 24 | 33 | 25
105#2% T3 | 24 | 24 25 | 27 | 29 | 21 | 27 | 29 | 18 | 30 | 30 | 26 | 25 | 26 | 27
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